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1 5.9 17.3 11.4
2 5.1 16.0 10.9
3 5.6 17.6 12.0
4 4.5 8.2 3.7
5 6.8 13.9 7.1
6 5.7 14.2 8.5
7 6.4 64.5 58.1
8 6.2 67.8 61.6
9 6.7 80.2 73.5
EREE = 5 4 5 % FA E R
1 6.3 15.2 8.9
2 5.9 18.9 13.0
3 6.1 16.9 10.8
4 5.0 11.1 6.1
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6 5.0 13.7 8.7
7 5.2 66.0 60.8
8 6.3 64.2 57.9
9 5.8 80.8 75.0
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Eams & s % 225 R
1 5.6 15.0 9.4
2 5.8 19.5 13.7
3 6.3 18.1 11.8
4 5.6 11.9 6.3
5 5.8 13.4 7.6
6 55 13.7 8.2
7 4.7 66.5 61.8
8 6.6 65.5 58.9
9 5.3 81.9 76.6
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peEde o e L K@ p,=-21.58db >, =-21.15db >
n,=-14.06 db > . =-16.48 db » n, =-18.69 db > 7, =—-35.49 db
ns =-35.53db » 7, =-37.41db o 3@ > T KT L& G & AH

Btz SINW & Au#i ~Ldg 2 &0 EEE SIN

®hed 72(@)% 7.2(0) > 24 727 > %+ A4 7 Atk > 515 B
Zom 2Rk FFCEATHZE  FIF DA ERERD F]F
ER|AR&3sp Vo HP kB 122 30047 E - F]F2 7 F
SRR HEEZ P EAR
CE e L 2 3 sk

d 4 7.2(@)7 2 #dp 0 f1* (6.4)% (6.5)5% » 22 2 2 & 5 #353%
A2 AW RZ A KkRl 4k T3 %2 T42 BT TR e
Hoe o wpd]FF AvB @ hindm 552 0 @ 2455 E&* 1 &
Bok®:, 5] ANBYCSD-EZdscd »vd 0T 3280 o
(AB), = A,B, =—20.19 +(-21.58)+(-21:15) = —62.92
(AB), = A,B, = —14.06 +(~16.48) + (~18.69) = ~49.23
(AB), = A,B, = —35.49+(~35.53) +(~37.41) = ~108.43

C,=-20.19+(-14.06)+(—35.49)=-69.74

C,=-2158+
=-77.25

) )
~16.48)+ (~35.53) = —73.59

) )

)

D, =-20.19+(-18.69)+(-35.53)=-74.41

( (

( (

C, =—21.15+(~18.69) +(-37.41

(~18.69) +(

D, = —21.58+(~14.06)+(~37.41) = ~73.05
(~16.48)+(~35.49)

D,=-21.15+(-16.48)+(—-35.49)=-73.12
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£72@) %6 2 &352%% SIN v

C 1P| B | #mmauenum)| SN

Ratio

234 Ri R: | (db)
1 1 1 1 1 11.4 8.9 -20.19
2 1 2 2 2 10.9 13.0 |-21.58
3 1 3 3 1 12.0 10.8 |-21.15
4 2 1 2 3 3.7 6.1 -14.06
5 2 2 3 ik 7.1 6.2 -16.48
6 2 3 1 2 8.5 8.7 -18.69
7 3 1 3 2 58.1 60.8 |-35.49
8 3 2 1 1 61.6 579 [-35.53
9 3 3 2 1 73.5 75.0 [-37.41
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3 7.2(b)

+ o

2 #5384 SIN v

C 1P| B | #mmauenum)| SN
Ratio
21314 Ri R: | (db)
1 1 1 13.0 9.4 -21.10
2 2 2 10.3 13.7 |-21.67
3 3 1 11.2 11.8 [-21.22
1 2 3 3.2 6.3 -13.97
2 3 i 7.1 7.6 -17.33
3 1 2 9.6 8.2 -19.01
1 3 2 59.8 61.8 [-35.68
2 1 1 63.1 58.9 [-35.71
3 2 1 76.4 6.6 |-37.67
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E, =—20.19+(~16.48) + (-37.41) = —74.08
E, = —21.58+(-18.69) + (-35.49) = ~75.76
E, =—21.15+(~14.06)+(-35.53) = ~70.74
aP, =AB,~A,B, =4551
aP,=AB,-AB, =13.69

aP. =C,-C,=-69.74—(~77.25)=7.51
aP, =D, D, =-73.05—(~74.41) =136

aP. =(E, +E,)/2—-E, =[-74.08+(~70.74)] /2—(-75.76) = 3.35

273 & e &L 2 ket (1)

(AB) 3; D E
KL -62.92 -69.74 -74.41 -74.08
K2 -49.23 -73.59 -73.05 -75.76
k& 3 -108.43 -17.25 -73.12 -70.74

&3+ -220.58
274 Z#G &AL ki ()

A B C D E
a % 4551 13.69 7.51 1.36 3.35
P 1 2 3 5 4
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275 +®H e &AFL 2 Ak werd (1)
(AB) C D E
K] -63.99 -70.75 -75.82 -76.10
k2 -50.31 -74.71 -73.31 -76.36
k&3 -109.06 -77.90 -74.23 -70.90
&3 -223.36
%76 @ o# UL d ket (1)
A B C D E
2% | 58.75 13.68 7.15 2.51 2.86
= 1 2 3 5 4
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Ryt 1.2@)% £ 73577 2 By TV WiT L&

-

£ 77 Bidmiz ¥z HoKEL

£ 7 e kg1 kg2 kg3
A R Ak B & —
B 4 %% & (glem®) 6.7 6.6 —
C & 7z £(%) 10.0 13.5 17.0
D |4k & (mm/min) 80 100 120
E T4k > 5N 24 - —
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(Zn,j = ~(~220.58)" = 5406.17

i=1

—CF =654.50

B o AR A 2
(6.6) % (6.11) 5% f18 4

e F ol

1
Sap) = §[(—62.92)2 +(-49.23)" +(-108.43)° |- CF = 640.36
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#3085 P AB B2k AW 0 Gl AR

S, = %(AP) =345.19 ; S, %(APB)2=31.24

S = %[( ~69.74)" +(~73.59)" +(~77.25)" | - CF =9.40
Sp = %[( ~74.41)" +(~73.05)" + (-73.12)" | -CF =039
Se %(E +E) +%E22—CF:2.49

S, =S; —ZSSJ. =654.50—(640.36+9.40+0.39+2.49)=1.86

=1

S(AB) ~ 640.36

Vies) = 7

=320.18

(AB)

U RE AT RE A T8 d i my DA E FlF % R F A
GAENCIEE-R I S A SRR PN A
BT RRgR A ATR 790 A J RS p 2 R R0t E2 2
AT A1 (6.12) 1 (6.14) % K iF 4T

S aey— fanlV
(AB) — '(AB)Ve
Puey = =5 x100% = 97.48%

Oc = SC_S—TCVexIOO% =1.07%

T

p, = (= Ve 10096 1,45
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# 78 zH oS FEafE ks E (1)
£ 7] f S V
(AB) 2 640.36 320.18
A (1) (345.19) (345.19)
B (1) (31.24) (31.24)
C 2 9.40 4.70
D 2 0.39 0.20
E 1 2.49 2.49
e 1 1.86 1.86
T 8 654.50 —
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279 ZHGHEAELI2 BEEAE ()
£ 7] f S V F (%)
(AB) 2 640.36 320.18 269.06 97.48

A (1) (345.19) | (345.19) | 290.08**
B (1) (31.24) (31.24) 26.25**
C 2 9.40 4.70 3.95 1.07
e 4 4.74 1.19 1.45
T 8 654.50 — 100
2710 2% o &AL Z SR HEo+74 ()
& 7 f S \Y; F (%)
(AB) 2 640.36 320.18 135.67 97.12
A (1) (345.19) | (345.19) | 146.27**
B (1) (31.24) (31.24) 13.24*
e 6 14.14 2.36 2.88
T 8 654.50 — 100

B T20)% 275 557 iﬁdfiw‘u dAp 2R S

e PR T @ ES A RGIHAR 9% F1F B &5 4 & 95%
SHF LB AL RS FTEFR 2K



2 711 +#H e &AFL2 R &S 2 (D)
£ 7] f S V
(AB) 2 630.00 315.00
A (1) (575.26) (575.26)
B (1) (31.19) (31.19)
C 2 8.55 4.28
D 2 1.07 0.54
E 1 1.82 1.82
e 1 451 4.51
T 8 645.95 —
% 712 +H e HUAZR R Rk E (D)
£ 7 f S % F (%)
(AB) 2 630.00 315.00 118.42 96.71
A (1) (575.26) | (575.26) | 216.26**
B (1) (31.19) (31.19) 11.73*
e 6 15.95 2.66 3.29
T 8 645.95 — 100
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BT F ok % TE 2 RS EIRREAD UPF o A N & AT
RT2ZBEDTF)F 2 RB e EFF] T gl 01 L F]F 250 % iF i

o v auRETHESE

T =T/9=-220.58/9 = —24.51 (db)

AB, = A,B,/3=-20.97 (db)
(AB){AB, = A,B,/3=-16.41:(db)
A,B, = A,B, /3 ==36.14x(db)

= C,/3=-23.25 (dh)
= C,/3=-24.53(db)
C,/3=-25.75 (db)

O
O| O| O|

D, =D, /3=-24.80 (db)
D{D,=D,/3=-24.35 (db)
D, =D, /3=-24.37 (db)

- E,=E,/3=-24.13 (db)
E,=E,/3=-25.25 (db)
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B8 4 SN > v =-14.96(db) > 4o

2 713 T2 IR BN T HES o d T RESY TR
R B2 SIN W el 2 TR Y G BT LR R E R R

FREIFESLEE )G WlaiEres L ABCDLE, -
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E®EE Fols kolz £007 E001  E¥H HEH Ho01  H007 AHoiz HOl1s @ ARER

[

k018 |%2012 K007 |k001 |EFH BB H H B R |EFE |H001 |Foo7 (Bo12 k018
3.6 9.9/ 10.0 3.2 5.4 TEE 5.0 3.2 5.8 9.6 1.6
1.6 9.4 9.3 -0.2 5.0 BhAd 3.8 1.7 5.3 9.4 7.7
2.7 3.9 3.1 3.1 3.2 HETR 2.6 2.4 2.7 2.6 3.4
2.7 3.9 3.1 3.1 3.2 i 2.6 2.4 7.7 2.6 3.4
3.6 9.9/ 10.0 3.2 6.4 RAaE 5.0 3.2 5.8 9.6 6
1 q 1 0 2 JISEg 2 0 7 3 1

NN

Bl 7.11(a) mind sz &4 R ERIEB (235)
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ERER £018 E012 E007 E001 £ =R £001 £H007 Ho12 Hoi1s  HEES

(ko018 |E012 |E007 |E001 |[ETH B B B B & |EPHS %001 |F007 |Fo12 |fo1s
6.7 12.8] 19.0] 10.8] 12.0 WaE 10.8 8.3] 1b.1] 13.4 5.7
-4.8] -12.7] -18.8] -10.3] -11.86 1] -10.7] -7.8] “i5.1] -13.4] -6.4
3.9 3.8 1.2 3.7 3.5 RS 3.1 3.4 3.5 3.9 2.9
3.9 3.8 1.2 3.7 3.5 ThJ 3.1 3.4 3.5 3.9 2.9
5.7] 12.8] 19.0] 10.8] 12.0 BARE 0.8 §.3] 15.1] 13.4 6.7

2 1 5 1 4 JISER 3 3 5 4 2

Bl 7.11(b) Fringsh Ak B R B (45 0%)

FA 2 (um) [ SIN - iE(db)

TRRE 5.4 -14.61

FERLE 5.6 -14.96
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ﬁﬁﬂﬁ*&*%%’%{?“ﬁ$é§ﬁ%ﬁﬁ?°ﬂ&n@
B S Gh CAFR Y R AR S -
m‘ﬁj‘ ‘47‘}\’4;/% Eé’f’lo

7-2-1 4 R

Sarh S d N 4 B2 BRI 2R S dHL
o FILRF B EY RRILE DD ZTREEREASESRH
BT AL EHE Y BARR S L A BT T Fy
UASBAfER e S A s R erilid 2 2 R R L 6.7 glomi s R
EH B LG B BT E A Y% 10.0%~13.5% f- 17.0% T >
FI* Fadip KSR EG GR A FRY FIZ 4oL 7.14 47 o
AR 71204 FASBA A AATE S 2 ks A §d R
rz B2 B AE o
dRIP RSN EH N R R ES G P BR £
Baw o om ERERE S G kel Vg A AR ket Bl 2 Stk
R ESY AP EDOENUBE AT S Sk o M HRE
135% 2. %4v £ 5 0] AP AW S 2 & HE $ B R d A B4
¢ 646.91 kg/mm’ # % | 1258.76 kg/mm? » £ 3 4c 7 94.6% ; @ 1Y
Bl Aol a2 Fokthdh B0 R A%4 (5 T340 16.8% -
Yoo d BRI REEY By oAb Rl kb AR
P RENUBR AT S 2 Kl T T U R AR R AR
AR R LA BE RLE o
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%714 A-Bbh x4z v %R  Hi o kg/mm?

A K4 i 2
9 % = i 0% 10.0% 13.5% 17.0%
1 647.91 1108.40 1251.50 1340.89
2 643.78 1062.57 1279.67 1391.97
3 649.04 1057.70 1245.11 1336.76
T35 646.91 1076.22 1258.76 1356.54
B# % K7 2
F %=k 0% 10.0% 13.5% 17.0%
1 882.66 896.18 998.34 1098.25
2 852.61 931.86 1051.68 1091.12
3 829.33 938.62 945.39 1059.94
T 3o 854.87 922.22 998.47 1083.10

82




—~— A% = BB %

1500
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£
2
= 900 f
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= 600
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0.0 10.0 13.5 17.0
%4 7 £(%)

B17.12 A-BH A fl s i $W 5% B 24k 5 £ 2 B %R

71-2-2 B RP 2

hAF B EARY 2R BA - &g R Rid D] 7.2~7.50/cm’
U R R DT R e Ft o HN e RS £ R RS RISIER R
BEERTRER > MRREITEINSHBBRL R
NHBRESITESE T RGP 2RSS AN R KR E DT
B G -REL AR T 43 ARELES2Z &8 &
ARANRBREBGEZET CERESENGFULCSTELRAR
B R TS FAck 715977 o m HAEGRB AR R 4oB 7.13 977 o

&
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%715 ApxEla&mz i (X gom®)

4 %% B 6.6 glem’ B4z 2
A 5 10.0% 13.5% 17.0%
1 7.207 7.383 7.667
2 7.200 7.384 7.658
3 7.196 7.381 7.666
= 7.201 7.383 7.664
4 %% B 6.7 glem’ 7 R
A 5 10.0% 13.5% 17.0%
1 1.322 7.505 1.776
2 7.300 7.510 7.773
3 7.296 7.506 1.774
T2 7.306 7.507 1.774
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B 7.16(b) B x @+ & #5382 £ B(H o)
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